K s Arithmetic to practise before reasoning:

0.1 x3=

0.2x3=

Vocabulary

Theusands | Hundneds

Tens

Ones

Place value

STEM sentence:
The number is

Represents

Decimal

Worth
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KS

Arithmetic to practise before reasoning:

0.01x3=

0.02x3=

Vocabulary

Thousands,

Hundneds| Tens

Ones

Tenths

Place value

STEM sentence:

The number is

point

Represents

Decimal

Worth

@MRBEETEACH



K s Arithmetic to practise before reasoning:

04x4-= 0.5x5= 0.6x6= Vocabulary

Place value

0.4 0.5

Represents
Decimal
0.6 0.7
STEM sentence: Worth
The number is
@MRBEETEACH




K s Arithmetic to practise before reasoning:

0.1x2= 0.2x2= 0.3x3= Vocabulary

01 [ 11
02 [] 2.2
0. 3 3. 0 Represents
4 0. 4 Decimal
0.5 155

I

STEM sentence: Greater / less
: than
. is greater than / less than

@MRBEETEACH
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KS

02 3 11 220103

Arithmetic to practise before reasoning:
0.1x2= 0.2x2=

Smallest Targeat

STEM sentence:

is greater than / less than

Vocabulary

Place value

Greater / less
than

@MRBEETEACH



Arithmetic to practise before reasoning:
0.1+1= 0.2+2=

Vocabulary

Place value

Represents
. ‘ Decimal
STEM sentence: Worth
+ —
@MRBEETEACH




Arithmetic to practise before reasoning:

01+4

2-01-=
2-02-=
2-03-=
2-04%-=
2-0.5 =
2-0.6 =
2-0.7-=

STEM sentence:

+

0.2+5=

6+03=

Vocabulary

Place value

Represents

Decimal

Worth

@MRBEETEACH



Arithmetic to practise before reasoning:
Ks 0.2+4= 04+5= 6+0.6= Vocabulary

(11
(330
(8.5
(3) remasiasprionn

Place value

Represents

Decimal

Rounds

@MRBEETEACH
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Arithmetic to practise before reasoning:
200,000 + 40 = 200,000 + 400 = = 200,000 + 4,000 Vocabulary

220,000 = 100.000 + <:> Complete the -

MuALINGY numbens,
220,000 = 150.000 + <:> /T
&,6\ o Represents
220.000 = 200,000 + <:> =
220,000 = 215,000 +
STEM sentence: Inequality




Arithmetic to practise before reasoning:

200,000 + 50 = 200,000 + 500 =

@@.

200,000 > O00,000

STEM sentence:

Is greater than

= 200,000 + 5,000 Vocabulary

Place value

Represents

Calculate

Digits

@MRBEETEACH



Arithmetic to practise before reasoning:

KS

5x10= 5x11= =5x12 Vocabulary

++4+4 -
444 -
++4+4 -

X =

@MRBEETEACH



K s Arithmetic to practise before reasoning:

24 = X 24 = X 24 = X Vocabulary

Multiply
< A
O O
' . Times
-
‘ . a% Factor
oo %o %o
STEM sentence: Product

X =

o @MRBEETEACH




K s Arithmetic to practise before reasoning:

5x4= 4x5= =5x5 Vocabulary

20

TaTaTs 1

20
ylula]4]4
()




Arithmetic to practise before reasoning:

48 = X 48 = X 48 = X Vocabulary

Multiply

Times

Factor

STEM sentence: Product

X =

@MRBEETEACH



K s Arithmetic to practise before reasoning:

5x4= 4x5= =5x5 Vocabulary

24 .
66|66 = .
24
y|4]4|4|4]4
()




Arithmetic to practise before reasoning:
Ks 5x10= 50x10 = =500x10 Vocabulary

x 10 x 10 2 10 2 10
.<:> -
+ 10 + 10 =+ 10 + 10
Multiplicative
2 100 2 100 oc 100 2 100
<:><:> 60,000 Relationship
+ 100 + 100 + 100 + 100
STEM sentence: = Inverse
X - - = rg
A7 @MRBEETEACH




Arithmetic to practise before reasoning:
Ks 5+10= 50 +10 =

Vocabulary

o 10 x 10 x 10 2 10

Additive

+ 10 + 10 + 10 + 10
Multiplicative
2 100 x 100 x 100 2 100

Relationship

+ 100 + 100 + 100 + 100

STEM sentence: Inverse

X = -

@MRBEETEACH




Arithmetic to practise before reasoning:

KS

2+05= 20+ 0.5=
+0.5 +0.5 0.5 0.5
-0.5 -0.5 -0.5 -0.5
0.5 0.5 0.5 0.5
-0.5 -0.5 -0.5 -0.5

STEM sentence:

. o —

=200 + 0.5

Vocabulary

Additive

ultiplicative

I Relationship

Inverse

@MRBEETEACH



Arithmetic to practise before reasoning:
Ks 2-05= 20-0.5= =200-0.5 Vocabulary

+ 0.25 +0.25 0.25 0.25
Additive
-0.25 -0.25 -0.25 -0.25
Multiplicative
015 0.15 0.15 015
-0.15 -0.15 -0.15 -0.15
STEM sentence: Inverse
+ = - -

@MRBEETEACH



Arithmetic to practise before reasoning:
Ks 3+ =12 30 x =120 =300 + 1200 Vocabulary

Additive

500+ »)=2000 500 x{ )=2000

750+ >=1500 750 x{ )=1500
500+¢ »)=3000 500 x¢ )=3000

Multiplicative

750 +<{ >=3000 750 x{ )=3000

Relationship

STEM sentence: Inverse
. o — X
@MRBEETEACH




Arithmetic to practise before reasoning:
14+1.6= 14+16 = =140 + 160 Vocabulary

Complete. the
8 1 -+ 1 9 — Www Compensation

Equivalence

Relationship

Decimals

STEM sentence:
+ =

@MRBEETEACH



Arithmetic to practise before reasoning:
14+1.6= +1 14+16= +10 + 100 = 140 + 160 Vocabulary

Compensation

Equivalence

Relationship

Decimals

STEM sentence:
. o —

@MRBEETEACH



Arithmetic to practise before reasoning:
Ks 145 +1.6= +1 145+16= +10 + 150 = 140 + 160 Vocabulary

Compensation

10.25 + 0.5 = <:>
10.25+ 1.5 = <:>
10.25 + 2.5 = <:>

Equivalence

1025 + 3.5 = <:> Relationship
STEM sentence: Decimals




Arithmetic to practise before reasoning:
Ks 43 -12 = =43 -13 =43 -14 Vocabulary

@@@@

OXO- OO0

+ = -

@MRBEETEACH



Arithmetic to practise before reasoning:
43 +12 = =43 +13 =43 +14 Vocabulary

Digit

Sum

Relationship

STEM sentence: e B Addition

+ = -

@MRBEETEACH



Arithmetic to practise before reasoning:
Ks 10-2= =100-2 =1000-2 Vocabulary

¥ 10-5=<:>

- 1 oo 5 <:> = ' Difference
. 1000-5=_) &
and 10'000 -5 = <:> Relationship

Subtraction

STEM sentence: . .
. o — _
@MRBEETEACH




Arithmetic to practise before reasoning:
Ks 10+2= =100+ 2 =1000 + 2 Vocabulary

r 10+ 5 =

e 100 + 5 = ) n
s 1000 + 5 =

w 10,000 +5 =)

STEM sentence:
+ = -
@MRBEETEACH




Arithmetic to practise before reasoning:
Ks 10.2+0.5= =10.25+0.5 =10.25 + 0.125 Vocabulary

10.25 + 0.2 = 10.27
10.25 + 0.3 =10.28
10.25 + 0.4 = 10.29

Place value

Sum
Relationship
Addition

STEM sentence: _ iti
+ = -
@MRBEETEACH




Arithmetic to practise before reasoning:
Ks 10.2-05= =10.25-0.5 =10.25-0.125 Vocabulary

10.25-0.2=10.23

10.25-0.3 =10.22
10 25 0.4 — 10 21 ﬁ Difference

STEM sentence: ubtract
+ = -
@MRBEETEACH




Arithmetic to practise before reasoning:
51+52= =52+53 =53 +54 Vocabulary

Place value

Sum

Relationship

STEM sentence: Addition
+ = - -
@MRBEETEACH




